U3D4 - Solving Systems Algebraically.notebook

October 18, 2018

HW 3 - 3: Answers
4. x+1)2+(y-2)2=9

{('4’ 2)’ (29 2)}
5. (x-2)>+(y+3)2=16
{(2’ 1); ('2’ '3)]

HW Day 5 #1
2. ((-2,-3), (1, 3)}

1

a.  Solve grqphlcully

X+2y=
-3x+y / Y k{j

m:-'h m= (2)!.)
b=l o=-

X-

b.  Solve the same system algebraically.

3Lx*zy ﬂ

Aug 13-9:18 AM

Aug 13-12:04 PM

Solve graphically. Be sure to include all required parts.

HW 3-5 #1 soxel .
z;2x2~4x-3 'bv“ 7;7
’ [ . )
L,
)O{g- 2x%+4x- 3

Sep 9-8:47 PM

4 Pyt e2x-dy -4=0 Y
O i T & -
Fr2xeley’ -4y +4=4+144 e D Z| T
&+ ey-22=9 b L 1 1 .
enter: (-1, 2)
dics: 3 \ /
Answer: T
42,2y L

Oct 10-2:14 PM

3. (x-3)°+ (y+1)2= :1

y=-x
center: (3,-1)

radius 2

Answer: {(1, -1), (3, -3)}

Sep 9-8:49 PM

5. xPeyl-4x+by-3:=0
x-y=1

W 4K*&+y vy sq=3+4149 =

(%~ Z\} n 7*3';;:;’“;
center - (2,-3)
radius 4
yxo

me=1

p=-1

Aug 13-12:05 PM
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Aug 13-9:09 AM

Solve the two equations from yesterday algebraically.

Steps to consider:

1. Solve the linear equation for x ory.

2. Substitute into the circle (or parabola) equation.

3. Solve.

4.  Substitute your answer into the linear equation to solve for the remaining variable.
5. Express your answer as points in solution ie {(2, 3), (-1, 4)}

1. x2+y%=25
4x+3y=0

Aug 13-11:10 AM

2.

Aug 13-11:10 AM

(x-2)+(y+3)y=4
x-y=3

Solve the systems algebraically:

3. (x-1P+(y-2)2=4
y=2x+2

Aug 13-11:11 AM

4, y=x2—6x+3(5|)

y=2x—13(.j:)
xE-CnegD 2 24113
2 4B Ax 41y
R
X"-8x¢l6: 0
(x-4)(x4)-0 (4,5

Aug 13-11:11 AM

’("[:0 X-‘l:O U=2Y~|5
X+

rqua) .
Xy * W:=Z2( 13
ST T

Aug 13-11:11 AM
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5. xt+yiz1
2y=x+1

(hint: only one solution can be obtained
graphically. You must find the second solution
algebraically)

Sep 9-9:03 PM Oct 18-7:24 AM
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